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b+ a0 41 al A0 40
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» seiseki.d <- disti(seiseki, “manhattan™) <€

» seiseki.d
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#HT 0130 150 160 140 180
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Distance : manhattan
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o K-meansi
e FBHIZHTARIMZEKELTOSREZYLTE1TS

Bl:3DMDOFRAZ(K=3) [ZHFELT-LV! EL&D




6. EREBHIS RN

e K-meansi:

Step0: K&ER®H B 6
(ex. K:=3) 0
Stepl : KA DEZES 5

Step2: fAl DD EEEE(Z
KU, LoLbELVE 4
ICEFENDIIER
WTHITS.

(ex. Euclidean distance) 3

(ct. Voronoi diagrams)




6. EREBHIS RN

e K-meansi:

Step0: K&ER®H B 6
(ex. K:=3) 0
Stepl: KEDEZEL

Step2: Al D EEHEIC
KUY, LoELbELVE 4
ICEENDIIER
MCTHIT5.

(ex. Euclidean distance)

(ct. Voronoi diagrams)

Step3: HEHSAATEIZ 2
5D EEREIZLY,
BLEHEL, B
BL9 5.




6. RS R AN

e K-meansi:

Step0: KER®H B 6
(ex. K:=3) 0
Stepl: KEDEBZES

Step2: Al D EEHEIC
KUY, LoELbELVE 4
ICEENDIIER
MCTHIT5.

(ex. Euclidean distance)

(ct. Voronoi diagrams)

Step3: HHSAATEIZ 2
5D EEREIZ LY,
BELEHEL, H
BL9 5.

Step2-4 VT AZHY
BHSNAED p
FTHRYIRY




6. EBEBIIHS XA

e K-meansi:

Step0: KER®H B 6
(ex. K:=3) x2,
Stepl: KIADEZES 5

Step2: Al D EEHEIC
KUY, LoELbELVE 4
ICEENDIIER
MCTHIT5.

(ex. Euclidean distance) 3

(ct. Voronoi diagrams)

Step3: HEHSAATEIZ 2
Mo DIEEEICKY),
BLEFEL e
BLTD.

Step2-4 VT AZH

2k ry (RAREAES 0
FTRYRT




6. EBEBIIHS XA

e K-meansi:

Step0: KER®H B 6
(ex. K:=3) x2,
Stepl: KIADEZES 5

Step2: Al D EEHEIC
KUY, LoELbELVE 4
ICEENDIIER
MCTHIT5.

(ex. Euclidean distance)

(ct. Voronoi diagrams)

Step3: HEHSAATEIZ 2
Mo DIEEEICKY),
BLEFEL e
BLTD.

Step2-4 VT AZH

2k ry (RAREAES 0
FTRYRT




7. D2 AZ DT DE

RIZCKDITABINHT 4. KcmeansiEIZK AR

» lseiseki.km <- kmeansiseiseki, 311€
B-means clustering with 3 clusters of sizes 1, 3, 3

Cluster means: o

B IEF EE =3 =
1 30.00000 60.00000 =0.00000 0 90.00000
2 10.00000 43.53353 ob.bbERY  BO ¥3.53353
3 ob.BbBEEY Bb.BBEEY Vb.bbEEY o0 40.00000

Stering vector:
o BF ;ﬁcﬂg EEE EIEE :ﬁg?1 @

ithin cluster sum offsguares by cluster:
] 0 3600 3000

0

[1

ﬁvaiLahle cnmpngents: L o .
[lﬂ cluster centerk withinss SizZe
>

K-meansiE TOTREZ#%x3L
LTH#Tz==EML,
Z M sciseki.km| ZFE A

faR
clusterl: {EF
cluster2: = Bf, PUER, EF
cluster3: NER, RER, itF

cf. TTT—73
- HE BN EEREME
ZEB| 90 [100| 70 | 90 | 30
ZREBl 80 | 60 | 70 | 70 | 20
=ER[100| 40 | 30 | 70 | 80
POER| 60 | 30 | 40 | 80 | 80
fEF| 30 | 60 | 80 | 90 | 90
¥ 50 | 60 | 40 | 30 | 60
#8F| 90 (100 90 | 80 | 70
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